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Right Trianglc'l‘rigonomctry f‘k[um{’l} M[I(Llf)(

. " y : H ow:
For an acute angle A in right triangle ABC, the trigonometric functions are as foll

sin A = Iﬂ%

B
Cos A = _ﬂd’{ \’\
hyp Cﬁ&
tan A = £ A
o A

1. Aright trianglé has sides whose lengths are 8 cm, 15 cm, and 17 em. Find the values of missing angles.
: \ -
G\ QW= l/f'\ Cah
¢
o Ao ld3 BT

2. A right triangle with a hypotenuse of 6 includes a 32° anglé. Find the measure of the other two angles and

the lengths oféhe other two sides. E—; 5{0 - S 7,-2-’/@ b (6522 ’/—lf?'b

v ~qp° _
O\& C 10 0-”3\‘3 b’é‘(}c]Q
v A |

3. Solve each right triangle. Round angles and sides to the nearest hundredth. /- O = QU ©

To solve a triangle, means to _£{\A 2 4A W\(SS;V\? S(M A W%%

b. A=49°a=]
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i\ Y = 3017 Y = 2

QA0

L1 __oo ‘X: 5‘).g5§

All_glc of Elevation
o Wizt T ool
loo¥wny - wp
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5. From a point on lével ground 125 feet from the base of a tower, the angle of elevation is 57.2° Approximate

the height of the tower to the nearest foot. /"C{/Vl 6 1= %S
A _ . \
j X540 &

(7]

gﬂ L’)/ T
RS

6. A kite flies at a height of 30 feet when 65 feet of string is out. If the string is in a straight line, find the angle

that it makes with the ground. Round angle to the nearest tenth. 2

w$ SWAk = ﬁg )
S\W—‘(%): 7140

7. A ship is spotted from a lighthouse at Cape Hatteras at an angle of depression of 15°. How far from Cape
Hatteras is the ship if the lighthouse is 59 m high? ~
: g 6 ﬁ

Al T e (S B

A0

g"l

¥ 1< )(”—g—-ﬁu':}/c)‘@z\olvv\
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b f
8. From an apartment window 24 m above the ground the angle of dcprcsm;:;n gillﬂznga?foothz 'frllza;h N
is 38° and the angle of clevation of the top is 63°. Find the height arpemee = \E“\

a meter).
w04 LY =(g4.29 M
(0 Tam 3% = L\;L 6 \————7

_ 24
\I} - lwvl),/ - 50 79‘ .""" ‘
@ 'ﬂfww?)-: E g 19 -\9?" ----- N 1

6034

Practice - Solve each right triangle. Round lengths to two decimal places and angles to
one decimal place. Assume angle C is the right angle.
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Day 2 Law of Sipes

r .
SINA _ sinB _ sinC ,
@ 3 b ~ "¢

USCd \thn n a r.E r'-] d AAS |
1 J“ trig nglc an you hi]';‘L‘ ASA or AAS rom gcnmcuy

***Make sure you are in _De Yoo mode!!!!

Important notes:

*Side lengths are represented with _ll\_@_\f_((ﬁ\t l {"” 61’§
*Angle measures are represented with E l(:f’ I.‘HL,K l LAtV S
*The largest side is opposite the \lxNoj'\(A T angle

1. FindcifB= 101',C=63",anda=9

N o Sinle . a3 [C= ‘
"\ - X . C }‘].0‘1_

| C . :
& 183 = csinlv
(?2. Find Cis A =88",a =26, c =21 S\l
‘v - = B gl
Sink S8y (T"—’]
(4 A i X e
. 9’ I‘Vl('_. — ,ZISI\I/\W
ft ; ¢
B. = 57° and c=14.3. Round angle measures and side measures to the
sindZ - Sinfl Sl =5 S7
A 1.5 (43 4
singl = 1439132 =y 3giae]
Sl.V‘ t/ St | St I/Iﬁ[

- 4. Practice: Solve triangle ABCif B =76, C=60°, and b= 8.

Slle. sivYY ende_ Sl
T g ¢
Q= Ml{ L= ESineo
S‘V]7(p S’”’l]tf’
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The Ambiguous Case (SSA) :
SSA does not guarantee a unique triangle (or even that a A exists). Therefore SSA Is el the

A'YV\\')‘ AU cace.

SSA means 2 sides and a non-included angle
FIsU- L fimd =2 +CGlvger =1 M 10 TA 0
ol | 7 AY

| U-95.37=154.63

adj opp

i o) “)ﬂ .
Example 1: Solve the triangle:a=3, b=2 A < 40°

S‘,__‘-‘-HU = :_Slt_.‘lz) ]
o i %c
| e TR 194
Ty p= 2540 [C=)u.w3 ] |y !
s [bezaaly — SUM. e
Example 2: Solve the triangle: a = &, b = 8, A = 35°, ¢ > EZ L"ZLIJ
B SinisSll . Sinig (O=Y9.§ = (30.( \
e ~% el . JEBE 3 N¢ !
35 N\ C-1v.42 2 Liate
A g ' f E v {?ﬂf"ﬁ*ﬂ
SIS _ st 2= 1%97°
222 - Sl s ‘
o < . ¥ ) 3
- 4a.47 Stalt- 87 S1nds
] c (o

Grasu® AR [C=2.07]

Example 3: Solve the triangle: a=2,c=1,C=500,

}3 X _ "
\ % sinft =i sO
=AY e /
, s , 2L VYN
i MO—,SWLA-

( 2

Draw a picture and then determine the number of triangles.

No AN

1. C=40°,b=19,c=20 = - 2. B=67°, A=13°, b=22 3. B=23°,2=9.2, C=65°

S net Pﬂv\fﬂrw

j;/> 20 - YT})‘ Noet  Hwinguey | A ;
' 1 5 V;’: %‘L(Flf ) b

W 3Ltz 14 % 7
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2 [ 2D

4. B=45° a=28, b=20 5. C=27%, 2221, c=15

Sth'{s g“‘lﬂ* in'] = S'Il’]k
'LU LY IC) 2'
fre gl =504

1SV 4.6 =3y Lfv-1 %, l{w—IL{d <y

7. A=36",2=19,b=17  Ty3 8. B=112°,a=12,b= Ry XT,

. , :
_£!_L3w = g o

y " IN Skt SinA

= 3k1Y 0 "1z

(qpﬂﬂa-lquﬁr%raou7 Az Lyy

Practice - Law of Sines

A. Find the indicated measurement. (angles to the nearest tenth)

1. Find bif A=118°, B=22°, c=24

3. Find c if B=44°, C=53°, b=7

5. Find a if A=39°, C=51°, b=27

7. Find cif B=101°, C=63°, a=9

-

6. A=40", 3=10, c=18

flnyv - 1€

v 1y

C=<Lpy

o /N

9. A=27°, b=25, C=26"

Lne7

I .
et cnubigudey

2. Find C if A=88°, a=26, b=16.1, c=21

4. Find C if A=82°, a=20, b=24, c=20

6. Find Cif A=103°, a=26, b=24, c=6

8. Find A if B=129°, a=11, b=33, c=25
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